78

v

13,38

79 ,48, .30
+ +—4

A

165, |

3.83

, 53°

+

30,
25, ,

2,01

+

.43, 25

+
+

,45% 43

+

4,19

10°,,

57

79

4,53

,30
=

+

51

1

+

+

1,64

3.1

, 57

¥ 12,48 " 71 " 2,37° " 71 " 6,45 ¥
L 109 412 L 1375 , 148° 71 , 106 ., 81 1.73 L 146° 1,66 , 1405 , 107 , 98 2,915 L1145
4 4 174 4 +—535 7 4 4 4 X 77 : 71 4 4
57, 145, 9,05 205, 2,46 30, , 3.11 30, , 4,03 195, 1645 125 57
A A A O ] LTI A7 A
, 57 ,40°, 4,89 L 835 149 10,10 , 130 , 88 , 1155 505, 57
* * * * * * * * * *
———— BH=0,79
-~ ~
0d=0,16 o A |
BH =065 — - S I BH = 0,655
J BH=064 L~ |
= RVS
RVS
043x 021 1.00x0,28 B
21.03 v
/ 21.04
NGF: 61,30 m? NGF: 26.40 m2 -
: 26,40 m N
RH: 2,600 m < S
7777777777777777777777777777777777777777777777777777 RH: 2,650 m 1 o
.~ o° I
d=0,14 d=0,14 SH=0,185 SH=0,185 - o
18 Stg. S| | LASTENAUFZUG
17.1/28.6 pe 141
="
RVS 2
3,11x 0,23 3
... ° | 7 T ————
SH=020 d=0,16 [ RVS
\ | 0,80 x 0,41
| l I
\ | \ g
RVS } ‘ | ‘ T
1,02 x 0,235 ' | 5
| | m
,,,,,,,,, g=ot6 o ST e
[e] l | TR
,,,,,,,, N 4 ,,,%L,, =% . .
SH =0,21 [ @ >
c o
-
f
18 Stg. 53
17.1/26.4 | fa—_,’u'_.’
—
I ]| _77778;777
Y 75 S —
£S5
@ 21.02 =3 |
NGF: 36,40 m?
RH: 2,600 m @ |
101 21.05
NG'F S NGF: 65,60 m?
. y m
/ @O RH: 2,600 m
RH: 2,600 m
/17_‘ BH =0,70 ] ) BH = 0,61 — BH =0,61 —
| B | [
/} ] I ] o
EINHEIT 21
206,0 m?
, 57,400, 4,98 L 2,315 , 845 , 107° 2.20 , 825 8.29 , 54 , 67
57, 13.. 9 065 295, 246 30, 909 14, . 67

2,91 , 57

76

8.,

995

v

+

.01 7

1,42
2,01

30

79

2,75

.36,
4

L
+

L 43 | *26 1,495 25%,
30,

+

1,84

1,62

29

1

, 57

+

43

+

+

40°,43 |,

+

%

+

4

33, 57 + 48 30,

+

3.99

2,01

+

4,08°
4

26,

57,

78

v
t

13,38




	JoergH_EG AufteilungsplanBeitrag4ohneAdresse

